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Algebra 2
Quadratic Review #2

Solve each equation by factoring.

1) b*+4=-5b
hZ*+Sb +4 =0

(bt Wbt =0

3) v +10="Tn
N’ -Tn+{0 =0
(n-SIn-2) =

E’} =By 2

Solve each equation by completing the square.
4) B2 -10p~T73=-7

b*-10b = bl

b -0l 26 = ole+22

b-c)* <@l
b- 5“““&“
6) 9n* ~18n—53=3
A’ -1gn =50
A(n*-2n) =50 0
G(nZ-n+) =Bl tg  f n
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Solve each equ;&mn with the quadratlc formula.

7 12m =12m+22

2 - 12m-242 0 = 1232003
K= DR aa22)
2(12) X = 34:5\)"3‘
= 12 v Tz00 TR
24
9) 9x* +3="Tx
-1k +t3=0
= TH{E)-1(a)(3)
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2) ¥ —12=n
n’-n-12=0
(h-(n+3)=0

‘ﬂ 4,3

5) 8x* +16x—35=7
I+ o x =42
g(xﬁzﬂ =H2

B(x7 120 41) =424 8

2(x+)*= £0
< 2
(G =72
_+5
X4 = i"z' =3 -1
s~ z) 2
245
25
8) n* =-11n+102
n*+ln-(p2=0
Y=~ HAON - 402
pi()]
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i 12x 1§80 O (9 (x4) =72
/ |-R(2x*-9x-1) =0 XSl r30:T
2=yt 20— 4lly-H42 =0
X(2x-10 {(Qx-(D XA =0 o
B b 1S \Jrll“*‘().____ o Ko 3) B A T
K:‘i;—l
S {) h="1et* + QL+ 20
ansm -Q(242—t -10) =h
oth= (2w -3w) -Q(HP -Gt - lO)
| H=owEdw o - i@i&)_&;el_ .
IN-3W-S4 =0 -Q(24- ‘:ﬂ(t+2‘)
Dw-12w +qw-Si k=% .7 IH—TC’s)
2w (w-(0) 4(w-) * : e
(2wt w-0)=0 (D D=1t +50¢ 14
w-4,6} (w-o £:9) >+ 5Ot =(p =N
0 B -2(H* -5t +2)0
Gl 20=(ct3)at2) -2(Bt* -ut-1t13)=0
20 =8%4)8t35+(, $(4- %\ (1-3)
30=82 +55t¢ -2t -0
8% 55 - 740 £= 3\ Bsec|
(515Ys-3) =0 T
1S=-8,3] (S-3f) ® 2=l +Ht + 5
e —t? 43t -8 =0
Wl(c+oXstR) =120 —2(4%- |4+ =0
8%+ R5+58 Hp =20 “2(StE (ol -2+ 1) D
82+ (18 ~ (,0=0 Gt(t-2)-2(12)
(g+ons-%] =0 -2(%L21+ -9 =0
82031 [¢xI5\ {=9,2 | (ZSermuds]




